JAZOORRK [ ESHEKE

HISEEB5

oik

8ge
ram | 7 €0
=8B K& pSArAEIE "
e T—)U HIZEIZHE
e A = N El= =i = INFERRIE B =i 8
<VEZE/HEAE > (x%50kg/10a = 50g/1m. 1000 /10a = 100m£2/1m)
EZ¥8/mRA8 EZEZ/IBRE - A2 (k g) YEZ¥8/mRA8 FEZ/IBRE - AZ(k g)
A 8 )= H
A 8 )= H
A 8 )= H
BEEEEmLELEHL? (0 . ARV
< (FREEK > [EW COZEANICIIE, FRAEERNSCALTIIZS), EiRNES 1 2024 41R1F
BEZ iR 5 fERAB
(EREY - BRE) WFAER B5H 168 SOH
25— D )RRl PISLIE
(Bke/ 100) HEBL BEEAD FATISNLY [T B B8
T FH. PALS
NNRT — F3A SANERINT 708 = =)
(2000 » 1002 /10a)
== ; 57
J>v2oarJ)ly - 14080 = g
(2000 - 1002 /102a)
— o ES SPEIVS
2D — 7 ARKBH 77%@)%% <3600{%) 388 J=| B8
(2000 « 1002 /102a)
=< B KA STSLVE
TS VERIKBHE ;Jjg/\f\“ac S 5 =
(4000f8 + 1002 /10a) 2 IINAY
N> L — RKFDEI(B) BUR o
(4000 - 1002 /102a) B 2188 g B
SyNY20PTIF) BEO® .
(50007 « 1008 /10a) S B B8 s B8 3 =
SAX+420PTI(F) BEO® .
(2000f% - 100 £/10a) S B 8 B = B 8
( - - g 0 g B8 g B8
( - - B B A B A B
( - - B B A B A B
( - - g 0 g B8 g B8
( - - B B A B A B
( - - B B A B A B
( - - B B A B A B

XERZEFIMEBULZHES. B TSI EA.

SEHLOINDBREZEA T IHREIBERNS 2 R IZSU),

XKAER - BE - FIBOERE. ERICEATIISZLAERKRER (56-9000) FTHRIEICKENEHELZSH),



